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a; cosrr'1t;:-\0.- tl -i*tmrl:j4# ^r,rrA.:(4)
qi,1 el+i.u * - t+:' .-l3r 3ra'-

f^qr e'-L ,,-.tfe ' -e

b) cos'(ry)52e'
- :rr^ I

l*"'{x'bl^ *r'l - )d A;(Ur., Vl'x-
,,'**i -o

.-.-\3" c"s'kt ?* " 31 c"s'9F:-Lu"4

ua^-- *a9 # 
(-u'*'**),'= --Yt--.

i.-- _.1^,tcsc-P"'

* Le't/A+

'Uao.- 3x do"v3 tW-)

MATH 152
Mrs. Bonny Tighe

EXAM IA
7.1-8.2

100 points

There are 11 problems with 10 points each

e) sin(arctan(0.1)) =

2. Find dyldx: a) y: ln(ln(csc x))
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5. Find f '(x): (x) = ln .l-
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Evaluate using integration by parts:
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7. Evaluate:
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8. Find the following limits. Use L'Hospital's Rule where appropriate.
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I l. Use logarithmic differentiation to find the derivative for each of the following:
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